






Direction : Study the following pie chart carefully and 
answer the following questions given beside.
The pie chart given below represents percentage of 
number of students in five different schools viz. A, B, C, D 
and E. The total no. of students in all the schools is 
1,68,000. The below table shows the ratio of girls and boys in the given 

five schools.

School Girls : Boys

A 3 : 4

B 2 : 3

C 5 : 3

D 1 : 2

E 4 : 1



Number of students of school E is what percent of the 
difference of the number of students of school C and 
school B?
स्कूल E के छात्रों की संख्या, स्कूल C और स्कूल B के छात्रों की संख्या के 
अंतर का ककतना प्रततशत ह?ै

A.156.76%
B.186.67%
C.60%
D.166.67%
E.74%

School Girls : Boys

A 3 : 4

B 2 : 3

C 5 : 3

D 1 : 2

E 4 : 1

Total no. of students =  1,68,000



What is the ratio of average number of students from 
school A and D to that of the average number of students 
from school B, C and E?
तिद्यालय A और D के छात्रों की औसत संख्या का तिद्यालय B, C और E 
के छात्रों की औसत संख्या से अनुपात क्या है?

A. 18 : 23
B. 14 : 25
C. 23 : 18
D.8 : 9
E. NOT

School Girls : Boys

A 3 : 4

B 2 : 3

C 5 : 3

D 1 : 2

E 4 : 1

Total no. of students =  1,68,000



Find the ratio of number of girls from each school ?
प्रत्येक तिद्यालय से लड़ककयों की संख्या का अनुपात ज्ञात कीतिये?

A. 1 : 2 : 2 : 4 : 5
B. 3 : 5 : 7 : 9 : 8
C. 4 : 2 : 5 : 2 : 4
D.1 : 2 : 3 : 2 : 1
E. 5 : 2 : 6 : 7 : 4

School Girls : Boys

A 3 : 4

B 2 : 3

C 5 : 3

D 1 : 2

E 4 : 1

Total no. of students =  1,68,000



If 14.28% students of school A change their school and go 
to school D, what will be the percentage change in the 
number of students of school D ?
यकि तिद्यालय A के 14.28% तिद्यार्थी अपना तिद्यालय बिलते हैं और 
तिद्यालय D में िाते हैं, तो तिद्यालय D के छात्रों की संख्या में प्रततशत 
पररिततन क्या होगा?

A. 11.11%
B. 22.22%
C. 33.33%
D.12.18%
E. 14.15%

School Girls : Boys

A 3 : 4

B 2 : 3

C 5 : 3

D 1 : 2

E 4 : 1

Total no. of students =  1,68,000



Find the average number of boys from all the schools ?
सभी तिद्यालयों के लड़कों की औसत संख्या ज्ञात कीतिये?

A. 15784
B. 16464
C. 16465
D.17840
E. NOT

School Girls : Boys

A 3 : 4

B 2 : 3

C 5 : 3

D 1 : 2

E 4 : 1

Total no. of students =  1,68,000



Directions: Pie chart shows the number of workers in 
different companies. Table chart shows the ratio between 
employees and workers.

Total Employees = Total Officers + Total Workers

A
12%

B
26%

C
24%

D
18%

E
20%

Company Officers : 
Workers

A 1 : 4

B 2 : 13

C 3 : 8

D 5 : 9

E 2 : 5

Total Workers = 6000



Find the ratio between officers of company A and 
employees of company D ?
कंपनी A के अतिकाररयों और कंपनी D के कमतचाररयों के बीच का अनुपात 
ज्ञात कीतिये?

1.2:11
2.3:28
3.5:32
4.2:17
5.NOT



Officers of company A are what percent of the officers of 
company E ?
कंपनी A के अतिकारी कंपनी E के अतिकाररयों के ककतने प्रततशत हैं?

1.25%
2.66.66%
3.37.5%
4.50%
5.NOT



Officers of company B are how much percent more or less 
than employee of company E ?
कंपनी B के अतिकारी कंपनी E के कमतचारी से ककतने प्रततशत अतिक या 
कम हैं?

1.80%
2.83.33%
3.14.28%
4.28%
5.NOT



Find the average between officers of A, B and E ?
A, B और E के अतिकाररयों के बीच का औसत ज्ञात कीतिये?

1.500
2.700
3.900
4.1200
5.NOT



Find the ratio between officers and workers ?
अतिकाररयों और कामगारों के बीच का अनुपात ज्ञात कीतिय?े

1.17:50
2.22:45
3.19:32
4.65:132
5.NOT



Find the difference between employees and officers ?
कमतचाररयों और अतिकाररयों के बीच का अंतर ज्ञात कीतिये ?

1.8040
2.6000
3.4000
4.4200
5.NOT



Directions: The following pie-charts shows the percentage 
distribution of the total students passed from six different 
colleges. The second pie-chart shows the percentage 
distribution of the total girls passed from six different 
colleges. The total number of passed students is 7.5 
thousand and 40% of them are girls.

Total students = 7500 Total girls = 3000



Total students = 7500 Total girls = 3000



The boys students who passed from College E is 
approximately what per cent of the girl students passed from 
College C?
कॉलेि E से उत्तीर्त होने िाले लड़के, कॉलेि C से उत्तीर्त लड़ककयों का 
लगभग ककतना प्रततशत है?

A.65%
B.185%
C.205%
D.235%
E.275%



The number of boys who passed from College B is 
approximately what per cent more or less than the number 
of girls who passed from the same college?
कॉलेि B से उत्तीर्त होने िाले लड़कों की संख्या उसी कॉलेि से उत्तीर्त होने 
िाली लड़ककयों की संख्या से लगभग ककतने प्रततशत अतिक या कम ह?ै

A.67%
B.72%
C.81%
D.87%
E.92%



In which of the following colleges the difference between 
the number of passed boy students and the number of 
passed girl students is the maximum?
तनम्नतलतित में से ककस कॉलेि में उत्तीर्त लड़कों की संख्या और उत्तीर्त 
छात्राओं की संख्या के बीच का अंतर अतिकतम है?

A.B
B.C
C.D
D.E
E.F



In which of the following colleges is the number of passed 
girls students more than the number of passed boy 
students?
तनम्नतलतित में से ककस कॉलेि में उत्तीर्त लड़ककयों की संख्या उत्तीर्त 
लड़कों की संख्या से अतिक है?

A. B
B. C
C. D
D. E
E. F



In which of the following colleges is the ratio of the number 
of passed boys to the number of passed girls 1 : 1?
तनम्नतलतित में से ककस कॉलेि में उत्तीर्त लड़कों की संख्या और उत्तीर्त 
लड़ककयों की संख्या का अनुपात 1 : 1 ह?ै

A.A
B.B
C.C
D.D
E.E



Directions: Study the following graph carefully & answer 
the questions given below it.

The pie chart, given here shows the amount of money 
spent (in degrees) on various sports by a school 
administration in a particular year.



If the money spent on football was 9000 rs, how much 
more money was spent on hockey than football?
यकि फुटबॉल पर िचत ककया गया िन 9000 रुपये र्था, तो फुटबॉल की 
तुलना में हॉकी पर ककतना अतिक पैसा िचत ककया गया र्था?

A.11000
B.11500
C.12000
D.12500
E.NOT



If the money spent on football was Rs. 9000, what amount 
was spent on cricket?
यकि फुटबॉल पर िचत की गई िनरातश 9000 रुपये र्थी, तो किकेट पर 
ककतनी रातश िचत की गई र्थी?

A.31000
B.31500
C.32000
D.32500
E.NOT



If the money spent on football is Rs. 9000, what was the total 
amount spent on all sports?
यकि फुटबॉल पर िचत की गई िनरातश 9000 रुपये ह,ै तो सभी िेलों पर 
िचत की गई कुल रातश क्या र्थी?

A.73000
B.72800
C.72500
D.72000
E.NOT



If Rs. 9000 were spent on football then the money spent  
on Tennis is what % of money spent on Basketball?
यकि फुटबॉल पर 9000 रुपये िचत ककए गए र्थे, तो टेतनस पर िचत की गई 
िनरातश बास्केटबॉल पर िचत की गई िनरातश का ककतना % ह?ै

A.175%
B.250%
C.275%
D.300%
E.NOT



If total money spent on all sports is 5040 rs then what is the 
difference between the money spent on Hockey and 
Football ?
यकि सभी िेलों पर िचत की गई कुल िनरातश 5040 रुपये ह,ै तो हॉकी 
और फुटबॉल पर िचत ककए गए िन के बीच का अंतर क्या है?

A.Rs. 450
B.Rs. 550
C.Rs. 770
D.Rs. 850
E.NOT



Pie chart given below shows the percentage distribution of total 
number of male faculties in six different schools.

Total male faculties in all schools together = 8400



If the ratio of male faculties to female faculties in school A and school B is 
2 : 5 and 4 : 3 respectively. Then find the difference of total female 
faculties in school A and school B?
यदि स्कूल A और स्कूल B में पुरुष संकायों का मदिला संकायों से अनुपात क्रमशः 
2:5 और 4:3 िै। तो स्कूल A और स्कूल B में कुल मदिला संकायों का अंतर ज्ञात 
कीजिए?

1.420
2.840
3.640
4.530
5.620



If total number of faculties in school F is 1820. Then female faculties in 
school F are what percentage more/less than total male faculties in school B?
यदि विद्यालय F में कुल संकायों की संख्या 1820 िै। तो विद्यालय F में मदिला 
संकाय, विद्यालय B में कुल पुरुष संकायों से दकतने प्रततशत अतिक/कम िै?

1.78.67%
2.83.67%
3.81.67%
4.84.67%
5.79.67%



What is the average of total number of male faculties in school A, C and F?
स्कूल A, C और F में पुरुष संकायों की कुल संख्या का औसत क्या िै?

1.1256
2.1346
3.1546
4.1456
5.1686



If total number of faculties in school A is 1340. The number of female 
faculties in school B is 80 more than female faculties in school A. Calculate 
female faculties in school B is what percentage of male faculties in school A?
यदि स्कूल A में कुल संकायों की संख्या 1340 िै। स्कूल B में मदिला संकायों की 
संख्या स्कूल A में मदिला संकायों की संख्या से 80 अतिक िै। स्कूल B में मदिला 
संकायों की गणना करें, स्कूल A में पुरुष संकायों का दकतना प्रततशत िै?

1.69.04%
2.59.04%
3.56.04%
4.45.04%
5.66.04%



The number of female faculties in schools A and B both is 20% more than male 
faculties . The number of female faculties in school C is 50% more than male 
faculties. Then calculate total number of female faculties in school A, B and C?
स्कूल A और B िोनों में मदिला संकायों की संख्या पुरुष संकायों से 20% अतिक िै। 
स्कूल C में मदिला संकायों की संख्या पुरुष संकायों से 50% अतिक िै। तो स्कूल ए, बी 
और सी में मदिला संकायों की कुल संख्या की गणना करें?

1.6054
2.6078
3.6068
4.6058
5.6048



The number of female faculties in schools A and B both is 20% more than male 
faculties . The number of female faculties in school C is 50% more than male 
faculties. Then calculate total number of female faculties in school A, B and C?
स्कूल A और B िोनों में मदिला संकायों की संख्या पुरुष संकायों से 20% अतिक िै। 
स्कूल C में मदिला संकायों की संख्या पुरुष संकायों से 50% अतिक िै। तो स्कूल ए, बी 
और सी में मदिला संकायों की कुल संख्या की गणना करें?

1.6054
2.6078
3.6068
4.6058
5.6048


